EE105 Spring 2015
D.J. Allstot

. Circuit Analysis (14 points) Find the current in each element. Show each step in your solution to
receive full credit. Two copies of the same schematic are shown in case you need more than one.
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2. MOSFET DC Bias (18 points). For the circuit below find the DC values of /5, Ip, Va.
Vs, Vb and Vour. Assume Vrn = 1.0 V and K, = 40 pA/V2.
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3. Time-Domain Analysis [15 points]. An opamp with rail-to-rail output voltage swmg is
connected to a 5 V supply. The opamp can supply or sink a maximum of 1 mA of current at its
output terminal. It is driving a 10 pF load capacitor as shown. Ti’le input is driven with an ideal
square wave, Vin(t), that goes from 0 to 5V at a frequency of 10MHz. Plot the output voltage
waveform, V(t).
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